12" - CHEMISTRY
Unit Test : Lesson -8 (A) Time : 1Hour
Date : Max Marks : 30

8. @lwa‘ﬂd—' J:LD@GZDGU / IONIC EQUILIBRIUM
TJCsenid M| eflesInsis:@ns%@ allewL_web / Answer any six questions 6x2=12

. @rul) oIfleVEISET IDHMILD FHTIEISHET GTRTDTED eTeTew? a0 TRTHNG 1 @) TesT (B
THSSIFHFTL (HFAT H(1H5. What are Lewis acids and bases? Give two example for each.

euewgwml : pH  Define : pH

HCIO, e1p6v3:9a )81 9J1DVS S GBI6H LDF & TGS HTTGSTILD Fam)). LigmesrovL L — Glevari]
Gl rarens ullaT 919 LiLien L ufled, ]S @)eHeTHTISES &6TL_MH)%
Account for the acidic nature of HCIO, in terms of Bronsted — Lowry theory, identify its conjugate base.

IJLOVF; e TFOFHGT TGN TV 6T68168 ? yaummlest pH wirg) ?
What are acidic solution? What will be their pH ?

IJOVEISGT PMILd HTgmEIEeT LuPpHw Geverf-LigrarevL L Gsrarcvsemw aflorsEas.
Discuss the Lowry — Bronsted concept of acids and bases.

SpevaTedL’ Figs5e60 afBleow Fmml. State : Ostwald’s dilution law.

@@ B wrGNuled 2 arer wanL TTEmF®R ywelFGFHey 2.5 x10 ° M eTest S PlwLi

UL HOTeTS]. &60TF6O)G &GTe0LOGH W F6STL_ ).

The concentration of hydroxide ion in a water sample is found to be 2.5 <10 M. Identify the nature of the solution.
TGz ead oym| aflerrssend @ aflewr_weah /Answer any siv questions 6x3=18

GCluTg oywesd) allenaray eTaTmTed eTGIET ? 6(1h 2 FTewiLd C\&T®.

What is common ion effect ? Give an Example.
bR Fw YwesNwnSs1H 6TeImTeV 6t6s1ewr 2 What is meant by auto ionisation of water? Explain.

. @)ewesT HTFLD 1HMILD (3)EHERT YLOGVID GTRTHTED GTGHTEHT ?
What is meant by conjugate base and conjugate acid?

. Yfesflwad CFTaTenEWw LWRTLHSS LI6ETe(HGTODHE® D I LOGVLD (3OS HTTLD GT6T
UdSLILIBSSHI%.  Classify the following as acid (or) base using Arrhenius concept

)HNO, i) Ba(OH),  iii) H; PO,  iv) CH;COOH
. 0.00IM HCI sengsaforpH wS)Lienrs eors&)Hs  Calculate the pH of 0.001M HCI solution.

. pH iopm16 pOH @)evr_Guwimrest GgrL_gevLs aiad . Derive the relation between pH and pOH.

. 2X 10°M H;0 *syuefé Qadlamaus G rea®arar e LpissSe OH ojuehl# Qamhene
FHeWE T (HF. FHe»TFSIGHT 6O LOGH W FEHTL )
Calculate the concentration of OH " in a fruit juice which contains 2 X 10°M H;0 " ion. Identify the nature

of the solution. ERobe | ttp://www.youtube.com/@chemistryak
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